Class No. : '

Name :

SECOND YEAR - FIRST TERMINAL EVALUATION 2019-2020

Part — III ' Time : 2 Hours

GEOGRAPHY Cool-off time : 15 Minutes
Maximum : 60 Scores
{Map Accompanied)

General Instructions to Candidates :
¢ Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
¢ Use the ‘Cool-off time’ to get fémiliar with questions and to plan your answers.
e Read questions carefully before answering.
¢ Read the instructions carefully.

e Malayalam version of the questions is also provided.

¢ Give equations wherever necessary.
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6.

SECTION -A

Answer any 5 questions from 1-6. Each carries 1 score. (5x1=5)

Identify the approach in Human Geography during 1970’s.
(@) Regional analysis.

(b) Post-modernism.

(c) Humanism, Radicalism and Behaviouralism.

(d) Exploration and description.

Which among the following is the basic cause for ageing population ?
(a) Increased Death rate.

(b) Increased Life expectancy.

(c) Increased out migration.

(d) Increased Birth rate.

Class VI cities in India have the population size of :
(a) More than 1 lakh

{(b) Between 50000 and 1 lakh

() Between 20000 and 50000

(d) Less than 5000

Name the South Indian econdmist who have greatly contributed in developing the
concept of Human Development.

Which state in India has the least density of population ?

Identify the state in India which ranks top in Human development.
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SECTION-A
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1. 1970 &giee) @omale &)@uoavi® qudflaiMe agedan @idiefdla)e
(a) (oenutle alldeiMo
(b) pomEIWIE®
(©) aomale®, osulesellave, smilsanafioelime.

(d) aoicaissem)e aflaiesmalie

2. anes maaleigesaieled RMILealJIes (200U BTN BIDEMAIWEHD ?
(a) udduly acsmailoss |
(b) adsly eRwd esndaal
(©) ademaienss alte &)slcge

(d) adswls KOmEoses

3.  pemyicd @om)' VI mwoama)es |maves) a)@oem 7
() 1 eciesionieiwias
(b) 50000 aymad 1 eidaie Q1OD
(€) 20000 mymad 50000 e
(d) 5000 @B @0al

4.  aomallaalsmmes afam R allémialsammailcd mliame@] eedaim
mef® Baleamam 08 MOMIGHHG:RINImENNMOE ?

5. ImOIME a)QQle SHI0NTIN RMAVIMBM aRD TVeROOMBETOET ?

6. 2omalaalermaTi amos TUOIMAMBS NS MVoauoOmea ?
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SECTION-B

Answer any 6 questions from 7 to 14, Each carries 2 scores. (6x2=12)

List the two major subfields of Political Geography.

Define Human Geography.

How can we express Crude Birth Rate and Crude Death Rate ?

What is negative growth of population ? How does it occur ?

What is Human Poverty Index ?

How is Physiological density calculated ?

In the Census of India migration is enumerated on two bases. Elucidate.

What is Poverty ?
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SECTION-B
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SECTION -C

‘Answer any 5 questions from 15 to 21, Each carries 3 scores, (B5x3=15)

What is Neo-determinism ? Who introduced this concept ?

List out the causes for imbalances in sex-ratio,

What are the six basic needs identified by International Labour Organisation (ILO) for

human deve] opment ?

Classify the given cities/towns based on their function,

(Jarusalem, Varanasi, New Delhi, Winnipeg, Agra, London)

What do you mean by internal migration 7 List out the 4 streams of internal migration,

Mention the salient features of literacy in India.

List out the problems related to urban settlements in developing countries,
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SECTION-C
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SECTION-D

Answer any 4 questions from 22 to 27. Each carries 4 scores. (4x4=16)

22. Analyse the given age-sex pyramid and write your inferences.

23. Compare the common characteristics of countries with high human development and

those with low human development.

24. Give one example each for economic, social, demographic and environmental

consequences of migration.

25. Distinguish between :
(a) Metropolitan cities and Mega cities.

(b) Ancient towns and Medieval towns.

26. Mention the different combinations leading to urban agglomerations in India. Name the
largest urban agglomeration in India. ’

27. Explain how rural settlements differ from urban settlements.
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SECTION-D
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SECTION -E

Answer any 1 question from 28 and 29. Carries 6 scores. (1x6=6)

28.  List out and explain the geographical factors influencing the distribution of population.

29. There ére four distinct phases of population growth in India. Mention the phases and

explain any two.

SECTION - F

30.  Mark and label the following geo information in the outline map of India provided. (6)

(@
(b)
(©
CY
(e)
03]
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The state with lowest population

The state with lowest growth rate of population

The state with largest concentration of Buddhists

The urban agglomeration accommodating largest number of in migrants
The state with largest proportion of people below poverty line

National capital region
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SECTION -E 7
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SECTION -F
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